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Q1, (Jun 2010, Q1)
Simplify fully
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(a) Simphfy

3x* -x-2 | . e ae
- as a single fraction in its simplest

x' =1 x(x+1)

(b) Hence, or otherwise, express

form.
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Q3, (Jun 2007, Q2)
2x+3 94+ 2x
f(x)= -
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Show that f(x)= y
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Q4, (Jan 2009, Q2)

2x+2 x+1

f(x)=— -
(x) x*=-2x-3 x-3

Express f(x) as a single fraction in its simplest form.
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QS5, (Jun 2009, Q7)
The function f is defined by
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Show that f(x) = x=3
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Q6, (Jan 2010, Q1)

Express
x+1 1
3x -3 3x+l
as a single fraction in its simplest form.
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Express
2 +3x 6
2x+3)(x-2) x*=-x-2
as a single fraction in its simplest form.
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Q8, (Jan 2011, Q2)
(a) Express
4x-1 3
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as a single fraction in its simplest form.
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Given that

4x—1 3
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(b) show that
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Q9, (Jun 2011, Q7)
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